W34. For any real a,b, c,d > 0 prove inequality
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W35. For any positive a, b, ¢ such that a + b+ ¢ = ab + bc + ca prove that

a* + vt 4 ¢
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W36. a). If a1, a2,as,,,,a,+1,n > 2 are positive real numbers that satisfy
inequality

(a%—ka%—i—...—}-a?LH)Q > n(a‘ll—l—a%%—...—i—aiﬂ)

then any n of them, let it be a1, as, as,,,, an, satisfies inequality

(@2 +a3+..+a2)° > (n—1)(at+ab+.. +al)

b). If aj,az,as,,,,ant1,n > 2 are positive real numbers that satisfy

(af + a3+ ... +ai+1)2 >n(a} +a3+ ... +apq)

then for any 1 < k1 < ko < k3 < n + 1 holds inequality

(ai1 + aiQ + ai:a)2 > 2 (aﬁ1 + aﬁz + ai:,))

that is ag, , ag,,ar, be side lengths of some triangle.
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W37. Let ABC be a non-obtuse angles triangle with usual notations. Prove
that
2r 72 a’cos A r
—+ =< <14 —.
R + R2 — Z bce + R
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